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ECONOMICS SSC-li
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(1)

(vi)

{vii)

(viii)

(ix)

(xi)

(xii)

(xiil)

{xiv)

(xv)

What type of budget is considered as the best?

A. Deficit budget B. Balanced budget

C. Surplus budget D. None of these

How many commercial banks were there in Pakistan at the time of independence?
A 14 B. 24 C. 38 D. 44
In which year the state bank of Pakistan was inaugurated?

A 1947 AD B. 1948 AD C. 1949 AD D. 1950 AD
Major export commaodities of Pakistan are:

A Cotton and Rice B. Surgical instruments

C. Manpower D All of these

Who issues 500 rupee note?

A Government of Pakistan B. State Bank of Pakistan

C. National Assembly D. None of these

How many sugar mills are there in Pakistan?

A 25 B. 34 C. 39 D. 44

The head office of the state bank of Pakistan is situated in:

A Peshawar B. Islamabad C. Lahore D. Karagchi
The largest canal irrigation system is located in:

A Iran B. Pakistan C Afghanistan D. Sri Lanka
In Pakistan, budget period is:

A 06 months B. 01 year C. 02 years D. 05 years
Which of the following is not a responsibility of a commercial bank?

A Receiving deposits B. Issuing loans
C. Providing lockers D. Printing New notes

in Pakistan, sales tax is paid by the:
A Consumer B. Retailer C. Whole seller D. Nonre of these

The exchange of milk for rice is an example of:

A Exchange of Money B. Barter system

C. Exchange of gifts D. Help / Aid

Interest-free banking was introduced in Pakistan in:

A 1947 AD B. 1974 AD C. 1981 AD D. 1992 AD

State bank of Pakistan keeps percent of gold and silver reserves against the

issued currency.

A 20 B. 50 C. 40 D. 30

What is the benefit of tax?

A It increases choice B. It increases the Government revenue
C. It fasters more competition D. It increases trade opportunities
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ECONOMICS SSC-li

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

SECTION ~ B {Marks 36)

Q.2 Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. {12 x 3 = 36)
(i) What is meant by domestic trade?
(i) What is the difference between public and private finances?

(i) What is meant by Zakat?

(iv} Name any six exports of Pakistan.

(V) List any three causes of agricultural backwardness that Pakistan faced at the time of independence.
{(vi) Write down any three advantages of international trade.

(viij  Write a short note on Pakistan Industrial Development Corporation (PIDC).

(vii)  Why is Istamic economic system better than other economic systems of the world?
(ix) Describe barter system.

{x) What is meant by credit money?

(i) Define public finance.

(xii)  What is meant by current account?

{(xii)  Define value of money.

(xiv)  Write down any three conditions for the payment of usher.

(xv)  Why is per capita income low in Pakistan?

(xvi)  What is meant by excise duty?

(xvii) What is meant by metallic money?

(xviil) Write down any three heads of expenditure of the Federal government.

SECTION - C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3  Write down the definition of money. Explain in detail the functions of money.
Q.4 Describe in detail the causes of backwardness of banking system faced by Pakistan at the time
of independence.
Q.5 Whatis meant by central bank? Also expiain its responsibilities.

Q.6 Write down in detail the important imports of Pakistan.
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